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Candidate Name: Roll No. Center: Cadet College Okara
Part-1 (Objective)
Q.No.1: Choose the correct Meaning of underlined word. (5x1=5)
Sr.
No

Questions (A) (B) (C) (D)

No
The correct meaning of “ Destitute” is: No Income No money ol No tension
problem

The correct meaning of “Foe” is: Friend Enemy Father Feather

) ) Support Deport ) )
The correct meaning of “Intercede” is: Negotiate Relief
someone someone

The correct meaning of *“ Magnitude” )
] Importance Reality
is:

Give Take

The correct meaning of “Owe” is: ) )
something something

Q.No.2: Choose the correct answer according to grammar.

“The accident was due to ruthlessness.” Collective Concrete Abstract

\ ] Proper noun
The underlined word is / an. noun noun noun

Our Job is to keep the “audience” .
) ) ) Auxiliary
happy. The underlined word is a/ an Collective Concrete Abstract

noun
....noun.

. . Does not )
Wagqar with Nazish. Do not agree Will be agree
agree

“Worst” is: Adverb Adjective | Conjunction




I have always disliked “ smoking”. The o
_ _ Infinitive
underlined word is a / an:

Participle

Q.No.3. Translation into the English.

(1x5=05)

LS I st e

u.’f‘zu-c“,&ﬁa/:/"”i/ﬂJd?ujz_/iwqgrb’”u.fqu«uj"%)Jvufqu«uj"%JJ/i'ufqaLujé/J?c;;(l/l{zu-cé‘,u“/'JU‘;!l/ht/(c«fu(d,db

Secoufte gy forsSo bl TP a e pzZ JF

No.4. Write essay (s) on the following topic.
1. Accident

(1x10=10)
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Candidate Name: Roll No. Center: Cadet College Okara
Part-1 (Objective)
Q.No.1: Choose the correct option. (Tick or circle) (1x20=10)

Sr-

NoO Question C

If B S A, then AN B isequal to called

The conjugate of
5 + 4iis

x = --- is a solution of the inequality

3
—2<x<=

2
_‘LJ,K:«DLA/:;

The medians of triangle cut each other in the
ratio

-Q}'L/é;c_u/ugf({.lb/}éw
If b2 — 4ac > 0, but not a perfect square then
the roots of @x® +bx +¢ = 0 are. Irrational | Rational | Imaginary
UngwﬁzﬁaiﬁuJ.A»?MA&/JI/:!M&L}%,JJ/./! Jbt/:; J}’L‘ 811:!
L

Product of cube root.of unity is
NN P

Sum of the deviations of the variable X from its
mean is always

b s oA K A e Yo LK X

The fourth proportional w of x:y :: v:w is

_Lb./tzb?}?:

‘

If R = {(2,4), (3,6),(2,8)} then Dom R =

csc? 0 — cot? 0 =




Part-11 (Short Questions)
Q.No.2: Write short answers of the following questions. -Jf’iaglz/ﬁéomnf“}@u (5x2=10)

(i) Factorize:x* + 4x2 + 16?
JSF

(i) Define injective function.

I f§FE

Find p if 12, p and 3 are in continued proportion.

RNl ) XYt B

Find the multiplicative inverse of B _3’2]

BV NNy

tz
Prove that—=>— = cosec o + 1
cosecx — 1

_u:/.:f,t"

Part-l1l (Long Question)
Q.No.3: By synthetic division solve the equation. (05)

‘u:/f[c«l;ufd}’gn&/db&‘l/ﬁj‘&(}
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Okara
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Part-1 (Objective)

Q.No.1: Choose the correct option. (Tick or circle)

Sr-
No

Question

The number of base units are.
_LL;I,@.JU"?{UJL/‘:

Newton’s first law of motion is valid only in the

absence of.

<+u/:uﬁ(fu?r‘/:;d/ .J/J]u)ﬁ'%%b)f

Net force

Friction

S

Momentum

Which of the substance is lightest one-
wrzdfe Ut

Copper
s

Mercury

$Lr

Aluminum

i

In solids heat is transferred by.
_La,a“usﬁ.nd}’; ._wuiuﬁitguﬁ

Radiation

Conduction

Convection

L

Absorption

Ny

scientist.

Charles Coulomb was a
_E YL

Arabic
874

Chinese
#e

French

ey

American

Er

DC motor converts electrical energy into.

S S35

Light
energy

& o

Heat
energy

=7

Mechanical
energy

N3

Potential
energy

Ay

The refractive index for a specific material is
N=....

N S S

c/v

v/c

C*/v

V/c

The focal length of spherical mirror is

R/2

2R

(R/2)1/2

Which one of the following is not derived unit.
_§_uﬁ’¢2555’u/5v u:(:.u:u!

Kilogram

K

Newton
024

Pascal

FL

Unit of power of lens is
_§_¢zgg/5£gf/4

Centimeter

P

Diopter

e dn




Part-11 (Short Questions)

Q.No.2: Write short answers of the following questions. -ﬂaglzﬁéomnf“}@u (5x2=10)

(i) What is electron volt? Write its relation with Joule?

v%dﬁ"ng_d,z?%gw,u,;?,

(i) When a bullet is fired gun recoils. Why?

(iii) What is meant by logic variable?
?‘LJ’/&(LJ;"d/“}HGU

(iv) What is difference between rotatory motion and circular motion?
S OV S Ernl M
(v) Explain the difference between rest and motion.
SO I n LT s
Part-111 (Long Question)

Q.No.3: What is simple pendulum? Derive formula of time period and frequency. (05)

_J”/uyﬂfzﬁgo"&ﬁg)/}!i/j:ﬁﬁ’ ?‘agﬂ)};uﬁv
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Marks

Candidate Name: Center: Cadet College Okara

Part-1 (Objective)
Q.No.1: Choose the correct option. (Tick or circle) (1x10=10)

1. Whatis the formula of benzene? ¢ 9&08&@@7’3

(a) C6H6 (b)CO2 (c) H20 (d) C6H1206

Which types of covalent bond present in nitrogen gas Lgétgég,‘c,{.b{;/u’ufuiufﬁﬁt

(a) Single (b) Double (c) Triple (d) Coordinate

Down cell is use to make? (e b d LI LU st
(a) Sodium (b) NaOH (c) co2 (d)Urea

Which of the following element is nonmetal? ?La(ﬁutvu/cuﬁu'
(@) Na (b) Mg (d) Al

What is the formula of methane? ¢ LLU)"/G&J/KM:‘;*

(a)C2H2 (b).CH4 (d) C2H6

Protein consists of large number of? e S a0 IS Ay

(a) Fatty acid (b) Vitamin (c) Carbohydrates (d)Amino acid

Hydrogenation of unsaturated hydrocarbon can occur with the presence Catalyst?
S bl e Y UV L A bt b o

(@) Al (b) AICI3 (c) Ni (d) caO
What is the percentage of nitrogen in atmosphere ?‘L&lg@gu?;ﬁthuﬁ/f/ki
(a) 78 (b) 21 (c) 0.003 (d) 0.009
No. of electrons present in p sub shell? mz_nu,;.ﬁuiutdf-.—/é
(a) 2 (b) 3 (c)4 (d)5

. How many periods present in modern periodic table? ?ungiﬁiuﬁJ‘:u@wum

(a) 7 (b) 6 (c) 18 (d) 0




Q.No.2. Answer the short questions

1. Define acidic salt with example.

2. What is the principal of solvay’s process?

3. Draw the formula of ethyl alcohol and diethyl ether?

4. What is soft and hard water?

5.Define dynamic equilibrium?

Q.No.3. Long Question.

Write a note on law of mass action.

(2x5=10)

S Ly AL

e S Ly

?‘Lﬂf/lig{ﬁidflﬁ.ié!fuida}m J/w”‘-J

e bl sl 2l

W R YN

(5)

?ﬂ&i;ﬂéﬂwufu
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Part-1 (Objective)
SECTION-A

Question No. 01: Choose the correct options of the followings.

1. The Digitalis, a cardiotonic, is obtained from

a. Penicillin b. Foxgolve c. Cactus

According to IPCC, Earth’s Surface temperature has increased

_cL,l:‘ytJibc

(10 x 01 = 10)

ZCL,JQLKVQ:MLI

d. Hashish '
GO L@ I

per decade in the past 30 years.

_+g/tm2uféwonieﬁwﬁjuﬁuﬂvw"édWLIPCC. 2

a. 0.2°C
The thickness of Biosphere is

a.  10km

155 %€ () 2526 ()

Several hundred papillary ducts in Kidney drain into

b. Pelvis

Srief O

c. Loop of Henle
PO ())

a. Collecting Duct

Which of the following receive impulse from receptors?

c. Inter Neuron
c)’/zf/"'"(@)

b. Motor Neuron

FEY L O

a. Sensory Neuron

The new born babies have

c. 300
times per minute.

a. 250
At rest; the normal breathing rate is

a.».10-20 b.16 - 20 c.20-25

is the largest part of Forebrain.

b. Cerebellum
(s ©)

c. Hypothalamus
VI AR)

a.  Thalamus

10. Which of these have least elasticity?

b. Elastic Cartilage c. Fibrous Cartilage
RIO) & KU A6
form of Nitrogen is taken up by the producers.

a. Hyaline Cartilage

¢c. Ammonia
(23]

b. Nitrites
u"i/"/t ©)

Nitrogen Gas

d. 1°c
derd i3

d. 15.5km

2025 (2) 104 (L)

S G e ) 4

d. Glomerulus

U() 25 ()

?LLt'/JfJ[r%.L%'/U}(Lu:Jj@)}_S

d. None of these

g s(S) Wl § A ()

it s d i

TS uE T

] 198

d. Cerebrum

K () ()

?g_uﬁkjub‘f"ib’ld/ufc;ufd;'@»ﬁ

d. All of These
&KL F KA
Y20 S PV R ES M BT

d. Nitrates 1
HIEUL) U R ()




Part-11 (Short Questions)

Q.No.2: Write short answers of the following questions. -Jf’iaglz/ﬁéomnf“}@u (5x2=10)

1. Why the Owl is not able to see during the day time?
STUE B Usd s L s d
. What is Co-dominance? Discuss it with suitable example.
GO St S S
. What do you know about the Smog formation?
SIS

Define Single Cell Protein?

Ay F Stk B
. Give at least 02 reasons for increasing the antibiotic resistance in bacteria?
W el e p G roie L EAG R 25

Part-111 (Long Question)
Q.No.3: Discuss basic steps involved.in the Genetic Engineering? (05%x01 = 05)

IS P £ e
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Question No (10) (10)
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Candidate Name: Roll No. Center: Cadet College Okara

Part-1 (Objective)
Q.No.1: Choose The Correct Option. (10x1=10)

0] structure allows repetition of a set of instructions.

Ry DY f*f}"!@y,qﬁrfu‘fc;uﬁw
(&) Loop (b) Condition (c) Control (d) If
(i) make it easier to read and write values in array.
-%VB:UVT:(JIL'&ZJﬂég[AﬁﬂJd.AJfU;(c,u.‘.'c)l

(@) Loop (b) Condition (c) Expressions (d) Functions
(iii) The loop keeps repeating an action until an associated condition.becomes false.

elonablf B e b AN IS = L
(@) WEND (b) WHILE (c) NESTED (d) NEXT
(iv) is a unique identifier, used to refer to the array.
- P Le N i
(a) Data type (b) Array name (c) Array size (d) None
(v) part of loop executed first.
e Uedt oUSE_I

(a) Condition (b) Body (c) Initialization (d) Increment/ Decrement
(vi) Array elements are stored at memory locations.

e L P U Selpost e L
(a) Contiguous (b) Scattered (c) Divided (d) None
(vii) Array can be initialized declaration
P R ) I P

(). At the time (b) After (c) Before (d) botha &b
(viii)A condition can be any expression:

e e e P e
(@) Arithmetic (b) Relational (c) Logical (d) All of these
(ix) Condition logic helps in ?

_‘L&)/}J uﬁ&buﬂﬁﬂ@”’

(@) Iteration (b) Decision (c) Traversing (d) All
(X) Which of the following operator is used to assign a value to a variable?

- bl e o st iir S SIS B e e
(> (b) = (= (d)#




Q.No.2: Write short answers of following questions. -fdaglﬁ/zgd:aﬂi}*dj@u

() What is variable declaration? Give an example.

,Q’;J@??gﬁ'ﬁ.ﬁﬁld@

(i) What is the purpose of single line comments in C language?

v 2B sk g

(iii) What is meant by IDE? Write names of any two IDE.
AL 98Tt p e $530T
(iv) Differentiate between scanf() and printf() in C language .

g C e 5\ Sk scant() 5 printf()
(v) What is meant by syntax error? Give an example.
‘Q)JC:‘?‘LM/}EJ/C_,J/J&/?&/V

Part-111 (Long Questions) (1x5=05)

Q.No.3:  Write a program in C language using FOR ta display first ten number on screen. (05)

_u”/ﬁ/?q/‘/u’;b&?;uu(_;;‘FORﬁui”iﬂﬁ/v.{wﬁé;@u’




